City and County of San Francisco Department of Public Works TABULATION OF BIDS

Contract ID: 1000007916

Contract Title: PW HARRISON ST IMPR

Full Title: HARRISON STREET INFRASTRUCTURE IMPROVEMENTS (Rebid)

Bids Received: January 27, 2021

BIDDERS (in the order received & opened):	LBE Discount Claimed	Total Bid Price
A. Ruiz Construction, Inc.	Small-LBE 10%	\$9,284,892.00
Esquivel Grading & Paving, Inc.	SBA-LBE 5%	\$8,847,686.89
CF Contracting, Inc.	Micro-LBE 10%	\$9,930,898.50
Mitchell Engineering	Small-LBE 10%	\$9,325,867.25
Bauman Landscape & Construction, Inc.	Small-LBE 10%	\$9,317,386.00

Average Bid: \$9,341,346.13

Engineer's Estimate: \$8,605,050.00

% of Engineer's Estimate: 108.56%

% of Engineer's Estimate vs. Low Bid Received 108%

cc:Arun BhatiaAlaric DegrafinriedSusanne SuskindPansy LamBrian DeguzmanSelormey DzikunuFernando CisnerosK2 SystemsJason Chin

Iqbalbhai Dhapa Nicolas King Patrick Rivera Nicolas Huff Deanna Calleros

All Bidders Ed Yee Cyril Velasquez Raymond Woo

For complete subcontractor listings, check: https://bidopportunities.apps.sfdpw.org/CaseLoad/Details/2230

Contract ID: 1000007916

Short Title: Full Title:

PW HARRISON ST IMPR HARRISON STREET INFRASTRUCTURE IMPROVEMENTS (Rebid)

January 27, 2021 Bid Date:

	,	,										
				A. Ruiz		Esquivel Grading &						Bauman Landscape &
				Construction, Inc.		Paving, Inc.		CF Contracting, Inc.		Mitchell Engineering		Construction, Inc.
BID ITEMS	QUANTITIES	UNIT	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
G-1		LS		\$800,000.00		\$749,045.00		\$350,000.00		\$450,000.00		\$460,000.00
G-2	15,000	LF	\$1.00	\$15,000.00	\$0.83		\$1.00		\$1.00	\$15,000.00	\$0.20	
G-3	5	EA	\$10,000.00	\$50,000.00	\$10,500.00		\$20,000.00		\$13,219.00	\$66,095.00	\$40,000.00	
G-4	2,208	HR	\$112.00	\$247,296.00	\$115.50		\$105.00		\$112.00	\$247,296.00	\$120.00	
G-5	1	LS	\$220,000.00	\$220,000.00	\$253,000.00		\$240,000.00		\$270,000.00	\$270,000.00	\$250,000.00	
G-6	1	LS	\$150,000.00	\$150,000.00	\$44,000.00		\$160,000.00		\$20,000.00	\$20,000.00	\$25,000.00	
G-7		AL		\$94,500.00		\$94,500.00		\$94,500.00		\$94,500.00		\$94,500.00
G-8		AL		\$15,000.00		\$15,000.00		\$15,000.00		\$15,000.00		\$15,000.00
G-9	79 700	AL SF	 ¢0.90	\$10,000.00	 ¢0.00	\$10,000.00	 ¢1 50	\$10,000.00	 ¢n on	\$10,000.00	 \$0.50	\$10,000.00
R-1 R-2	78,700 1,090	TON	\$0.89 \$172.00	\$70,043.00 \$187,480.00	\$0.90 \$172.70		\$1.50 \$207.00		\$0.80 \$169.00	\$62,960.00 \$184,210.00	\$0.50 \$164.50	
R-2 R-3	19,580	SF	\$16.00	\$313,280.00	\$172.70		\$207.00 \$16.50		\$40.00	\$783,200.00	\$24.00	
R-4	17,900	SF	\$18.00	\$322,200.00	\$12.32		\$17.00		\$23.00	\$411,700.00	\$28.00	
R-5	950	LF	\$25.00	\$23,750.00	\$39.00		\$44.00		\$58.00	\$55,100.00	\$68.00	
R-6	1,700	LF	\$50.00	\$85,000.00	\$65.76		\$68.00		\$100.00	\$170,000.00	\$80.00	\$136,000.00
R-7	16,340	SF	\$15.50	\$253,270.00	\$12.69		\$13.50		\$17.00	\$277,780.00	\$24.00	
R-8	21	EA	\$4,000.00	\$84,000.00	\$3,506.40		\$3,250.00		\$4,209.00	\$88,389.00	\$4,200.00	
R-9	11	EA	\$150.00	\$1,650.00	\$165.00		\$750.00		\$785.00	\$8,635.00	\$150.00	
R-10	2	EA	\$50.00	\$100.00	\$38.50		\$500.00		\$170.00	\$340.00	\$50.00	
R-11	330	LF	\$50.00	\$16,500.00	\$33.00		\$75.00		\$105.00	\$34,650.00	\$145.00	
R-12	40	LF	\$55.00	\$2,200.00	\$72.00		\$40.00		\$111.00	\$4,440.00	\$215.00	
R-13	1	LS	\$12,000.00	\$12,000.00	\$11,000.00		\$8,000.00		\$12,801.00	\$12,801.00	\$28,000.00	
L-1	13	EA	\$2,700.00	\$35,100.00	\$2,750.00	\$35,750.00	\$2,000.00	\$26,000.00	\$2,667.00	\$34,671.00	\$2,760.00	
L-2	38	EA	\$300.00	\$11,400.00	\$380.00	\$14,440.00	\$100.00	\$3,800.00	\$400.00	\$15,200.00	\$200.00	\$7,600.00
L-3	4,050	SF	\$30.00	\$121,500.00	\$33.00	\$133,650.00	\$27.50	\$111,375.00	\$16.00	\$64,800.00	\$16.00	\$64,800.00
L-4	300	CY	\$300.00	\$90,000.00	\$313.50	\$94,050.00	\$285.00	\$85,500.00	\$457.00	\$137,100.00	\$330.00	\$99,000.00
L-5	44	EA	\$2,800.00	\$123,200.00	\$2,835.00		\$2,700.00		\$2,667.00	\$117,348.00	\$2,450.00	
L-6	607	EA	\$85.00	\$51,595.00	\$87.15		\$85.00		\$74.00	\$44,918.00	\$45.00	
L-7		LS		\$390,000.00		\$341,250.00		\$325,000.00		\$172,818.00		\$680,000.00
L-8	1,380	LF	\$470.00	\$648,600.00	\$477.75		\$900.00		\$369.00	\$509,220.00	\$50.00	
L-9	14	CY	\$750.00	\$10,500.00	\$787.50		\$750.00		\$683.00	\$9,562.00	\$1,600.00	
L-10	326	LF	\$390.00	\$127,140.00	\$404.25	· · ·	\$300.00		\$309.00	\$100,734.00	\$1,300.00	
L-11	7,417	SF	\$78.00	\$578,526.00	\$82.50		\$80.00		\$75.00	\$556,275.00	\$68.00	
L-11	2,728	SF	\$79.00	\$215,512.00	\$82.50		\$85.00		\$73.00		\$50.00	
L-12 L-13			φ79.00 		φ02.30 		φοσ.00 					
		AL		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00
L-14	2	EA	\$4,200.00	\$8,400.00	\$5,500.00		\$2,500.00	' '	\$4,267.00		\$5,600.00	
L-15	10	EA	\$800.00	\$8,000.00	\$825.00		\$1,500.00	+ -,	\$397.00		\$600.00	
L-16		AL		\$2,500.00		\$2,500.00		\$2,500.00		\$2,500.00		\$2,500.00
L-17	100	EA	\$290.00	\$29,000.00	\$315.00	· · · · · ·	\$500.00		\$168.00	\$16,800.00	\$260.00	· ' '
L-18	47	LF	\$598.00	\$28,106.00	\$613.20		\$650.00		\$561.00	' '	\$525.00	
L-19	2,000	SF	\$6.32	\$12,640.00	\$5.25	\$10,500.00	\$15.00	\$30,000.00	\$3.00	\$6,000.00	\$22.00	\$44,000.00

Contract ID: 1000007916

Short Title: Full Title: PW HARRISON ST IMPR
HARRISON STREET INFRASTRUCTURE IMPROVEMENTS (Rebid)

Bid Date: January 27, 2021

Dia Date.	ouridary 2	., 202.										
				A. Ruiz		Esquivel Grading &						Bauman Landscape &
				Construction, Inc.		Paving, Inc.		CF Contracting, Inc.		Mitchell Engineering		Construction, Inc.
L-20	2	EA	\$8,000.00	\$16,000.00	\$8,242.50	\$16,485.00	\$8,500.00	\$17,000.00	\$5,707.00	\$11,414.00	\$41,000.00	\$82,000.00
L-21	300	LF	\$170.00	\$51,000.00	\$189.00	\$56,700.00	\$200.00	\$60,000.00	\$109.00	\$32,700.00	\$388.00	\$116,400.00
L-22	6,640	SF	\$12.00	\$79,680.00	\$13.13	\$87,183.20	\$15.00	\$99,600.00	\$2.00	\$13,280.00	\$17.00	\$112,880.00
L-23	1	LS	\$150,000.00	\$150,000.00	\$181,440.00	\$181,440.00	\$72,000.00	\$72,000.00	\$80,647.00	\$80,647.00	\$90,000.00	\$90,000.00
L-24		AL		\$15,000.00		\$15,000.00		\$15,000.00		\$15,000.00		\$15,000.00
SW-1	1	LS	\$45,000.00	\$45,000.00	\$35,700.00	\$35,700.00	\$175,000.00	\$175,000.00		\$97,961.00	\$45,000.00	\$45,000.00
SW-2	8	EA	\$9,000.00	\$72,000.00	\$8,679.04	\$69,432.32	\$9,000.00	\$72,000.00	\$14,134.00	\$113,072.00	\$10,000.00	\$80,000.00
SW-3	4	EA	\$4,000.00	\$16,000.00	\$821.90	\$3,287.60	\$1,000.00	\$4,000.00	\$5,654.00	\$22,616.00	\$4,000.00	\$16,000.00
SW-4	872	LF	\$440.00	\$383,680.00	\$376.95	\$328,700.40	\$400.00	\$348,800.00		\$227,592.00	\$425.00	\$370,600.00
SW-5	393	LF	\$65.00		\$63.00	\$24,759.00	\$80.00	\$31,440.00		\$23,187.00	\$60.00	\$23,580.00
SW-6	78	LF	\$235.00	\$18,330.00	\$106.85	\$8,334.30	\$125.00	\$9,750.00		\$15,522.00	\$225.00	\$17,550.00
SW-7	86	LF	\$800.00	\$68,800.00	\$1,050.00	\$90,300.00	\$1,100.00	\$94,600.00	\$640.00	\$55,040.00	\$625.00	\$53,750.00
SW-8	1	LS	\$16,800.00		\$19,950.00	\$19,950.00	\$20,000.00	\$20,000.00	\$16,428.00	\$16,428.00	\$16,000.00	\$16,000.00
SW-9	1	LS	\$10,500.00	\$10,500.00	\$11,550.00	\$11,550.00	\$15,000.00	\$15,000.00	\$9,387.00	\$9,387.00	\$10,000.00	\$10,000.00
SW-10	9	EA	\$2,200.00		\$436.45	\$3,928.05	\$1,000.00	\$9,000.00		\$19,197.00	\$2,100.00	\$18,900.00
SW-11	331	LF	\$400.00	\$132,400.00	\$272.54	\$90,210.74	\$350.00	\$115,850.00		\$142,330.00	\$250.00	\$82,750.00
SW-12 SW-13	38 23	EA	\$100.00	\$3,800.00	\$36.24	\$1,377.12 \$4,664.17	\$60.00	\$2,280.00 \$5,750.00	\$262.00 \$2,621.00	\$9,956.00 \$60,283.00	\$50.00	\$1,900.00 \$5,750.00
SW-13 SW-14		EA EA	\$600.00 \$710.00		\$202.79 \$395.33	\$3,557.97	\$250.00	\$4,500.00		\$6,624.00	\$250.00	\$6,300.00
SW-15	9	EA	\$710.00 \$2,900.00		\$5,428.50	\$21,714.00	\$500.00 \$5,500.00	\$22,000.00		\$11,732.00	\$700.00 \$3,000.00	\$12,000.00
SW-16	500	LF	\$230.00	\$115,000.00	\$179.96	\$89,980.00	\$225.00	\$112,500.00	\$411.00	\$205,500.00	\$220.00	\$110,000.00
SW-17	104	LF	\$210.00	\$21,840.00	\$224.07	\$23,303.28	\$220.00	\$22,880.00		\$23,088.00	\$220.00	\$22,880.00
SW-18	1	LS	\$9,000.00		\$10,500.00	\$10,500.00	\$12,000.00	\$12,000.00		\$3,521.00	\$10,000.00	\$10,000.00
SW-19	30	EA	\$100.00	\$3,000.00	\$50.30	\$1,509.00	\$100.00	\$3,000.00	\$262.00	\$7,860.00	\$50.00	\$1,500.00
SW-20	12	EA	\$8,000.00		\$8,841.26	\$106,095.12	\$8,800.00	\$105,600.00		\$80,928.00	\$8,000.00	\$96,000.00
SW-21	8	EA	\$500.00		\$210.89	\$1,687.12	\$300.00	\$2,400.00	\$339.00	\$2,712.00	\$500.00	\$4,000.00
SW-22	5	EA	\$3,500.00	\$17,500.00	\$432.60	\$2,163.00	\$600.00	\$3,000.00	\$1,938.00	\$9,690.00	\$1,000.00	\$5,000.00
SW-23	43	LF	\$220.00		\$124.59	\$5,357.37	\$175.00	\$7,525.00		\$9,331.00	\$180.00	\$7,740.00
SW-24	50	CY	\$200.00	\$10,000.00	\$659.72	\$32,986.00	\$700.00	\$35,000.00		\$44,800.00	\$500.00	\$25,000.00
SW-25	1,800	SF	\$6.00	\$10,800.00	\$5.99		\$10.00	\$18,000.00		\$73,800.00	\$15.00	\$27,000.00
SW-26	13,100	SF	\$1.09	\$14,279.00	\$1.10		\$1.50	\$19,650.00		\$39,300.00	\$3.00	\$39,300.00
SW-27	13,100	SF	\$2.00	\$26,200.00	\$2.85		\$3.00	\$39,300.00		\$52,400.00	\$2.00	\$26,200.00
SW-28	5,900	SF	\$18.00	\$106,200.00	\$13.59		\$18.00	\$106,200.00		\$300,900.00	\$16.00	\$94,400.00
SW-29	3	CY	\$500.00	\$1,500.00	\$19.87	\$59.61	\$375.00	\$1,125.00	\$331.00	\$993.00	\$300.00	\$900.00
SW-30	1	LS	\$1,000.00		\$508.31	\$508.31	\$1,200.00	\$1,200.00		\$5,334.00	\$1,000.00	\$1,000.00
SW-31 SW-32		AL AL		\$5,000.00 \$15,000.00		\$5,000.00 \$15,000.00		\$5,000.00 \$15,000.00		\$5,000.00 \$15,000.00		\$5,000.00 \$15,000.00
SW-32		AL		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00
ET-1	25	EA	\$1,050.00		\$1,050.00			\$20,000.00		\$26,675.00		\$25,000.00
ET-2	1	EA	\$1,050.00		\$1,050.00		\$1,100.00				\$1,000.00	
ET-3	1	EA	\$1,050.00		\$1,050.00		\$1,100.00			\$1,067.00	\$1,000.00	
ET-4	1	EA	\$1,250.00		\$1,260.00		\$1,375.00				\$1,200.00	
ET-5	3	EA	\$1,050.00		\$1,050.00		\$1,100.00					
ET-6	10	EA	\$1,200.00		\$1,155.00							
ET-7	1	EA	\$1,200.00		\$1,155.00							
			_				•		<u>-</u> '			

Contract ID: 1000007916 Short Title: PW HARRISON ST IMPR

HARRISON STREET INFRASTRUCTURE IMPROVEMENTS (Rebid) Full Title:

January 27, 2021 Bid Date:

		•										
				A. Ruiz		Esquivel Grading &						Bauman Landscape &
				Construction, Inc.		Paving, Inc.		CF Contracting, Inc.		Mitchell Engineering		Construction, Inc.
ET-8	4	EA	\$1,300.00	\$5,200.00	\$1,260.00	\$5,040.00	\$1,320.00	\$5,280.00	\$1,280.00	\$5,120.00	\$1,200.00	\$4,800.00
ET-9	11	EA	\$450.00	\$4,950.00	\$420.00	\$4,620.00	\$440.00	\$4,840.00	\$427.00	\$4,697.00	\$400.00	\$4,400.00
ET-10	18	EA	\$700.00	\$12,600.00	\$630.00	\$11,340.00	\$660.00	\$11,880.00	\$640.00	\$11,520.00	\$600.00	\$10,800.00
ET-11	18	EA	\$700.00	\$12,600.00	\$630.00	\$11,340.00	\$660.00	\$11,880.00	\$640.00	\$11,520.00	\$600.00	\$10,800.00
ET-12	18	EA	\$700.00	\$12,600.00	\$630.00	\$11,340.00	\$660.00	\$11,880.00	\$640.00	\$11,520.00	\$600.00	\$10,800.00
ET-13	5	EA	\$3,000.00	\$15,000.00	\$2,625.00	\$13,125.00	\$3,300.00	\$16,500.00		\$13,335.00	\$2,500.00	\$12,500.00
ET-14	8	EA	\$7,300.00	\$58,400.00	\$7,350.00	\$58,800.00	\$8,800.00	\$70,400.00		\$59,736.00	\$7,000.00	\$56,000.00
ET-15	3	EA	\$15,000.00	\$45,000.00	\$14,700.00	\$44,100.00	\$16,500.00	\$49,500.00	\$14,935.00	\$44,805.00	\$14,000.00	\$42,000.00
ET-16	1	EA	\$15,000.00	\$15,000.00	\$15,750.00	\$15,750.00	\$17,600.00	\$17,600.00		\$16,001.00	\$15,000.00	\$15,000.00
ET-17	1	EA EA	\$19,000.00	\$19,000.00	\$18,900.00	\$18,900.00	\$22,000.00	\$22,000.00	\$19,201.00	\$19,201.00	\$18,000.00	\$18,000.00
ET-18 ET-19	3 10	EA EA	\$1,100.00 \$850.00	\$3,300.00 \$8,500.00	\$1,050.00 \$840.00	\$3,150.00 \$8,400.00	\$1,100.00 \$880.00	\$3,300.00 \$8,800.00	\$1,600.00	\$4,800.00 \$8,540.00	\$500.00 \$500.00	\$1,500.00 \$5,000.00
ET-19 ET-20	19	EA	\$1,100.00	\$20,900.00	\$1,050.00	\$19,950.00	\$1,100.00	\$20,900.00	\$854.00 \$1,067.00	\$20,273.00	\$1,000.00	\$19,000.00
ET-21	4	EA	\$1,700.00	\$5,000.00	\$1,260.00	\$5,040.00	\$1,320.00	\$5,280.00	\$1,007.00	\$5,120.00	\$1,000.00	\$4,800.00
ET-22	4	EA	\$2,600.00	\$10,400.00	\$2,625.00	\$10,500.00	\$2,750.00	\$11,000.00	\$2,667.00	\$10,668.00	\$2,500.00	\$10,000.00
ET-23	12	LF	\$82.00	\$984.00	\$84.00	\$1,008.00	\$88.00	\$1,056.00		\$1,032.00	\$80.00	\$960.00
ET-24	175	LF	\$105.00	\$18,375.00	\$105.00	\$18,375.00	\$110.00	\$19,250.00		\$18,725.00	\$100.00	\$17,500.00
ET-25	85	LF	\$203.00	\$17,255.00	\$210.00	\$17,850.00	\$220.00	\$18,700.00	\$214.00	\$18,190.00	\$200.00	\$17,000.00
ET-26	25	LF	\$112.00	\$2,800.00	\$115.50	\$2,887.50	\$121.00	\$3,025.00		\$2,950.00	\$110.00	\$2,750.00
ET-27	200	LF	\$112.00	\$22,400.00	\$115.50	\$23,100.00	\$121.00	\$24,200.00	\$118.00	\$23,600.00	\$110.00	\$22,000.00
ET-28	110	LF	\$120.00	\$13,200.00	\$120.75	\$13,282.50	\$127.00	\$13,970.00	\$123.00	\$13,530.00	\$115.00	\$12,650.00
ET-29	132	LF	\$125.00	\$16,500.00	\$126.00	\$16,632.00	\$132.00	\$17,424.00	\$128.00	\$16,896.00	\$120.00	\$15,840.00
ET-30	200	LF	\$128.00	\$25,600.00	\$131.25	\$26,250.00	\$138.00	\$27,600.00	\$134.00	\$26,800.00	\$125.00	\$25,000.00
ET-31	70	LF	\$132.00	\$9,240.00	\$136.50	\$9,555.00	\$143.00	\$10,010.00	\$139.00	\$9,730.00	\$130.00	\$9,100.00
ET-32	60	LF	\$138.00	\$8,280.00	\$141.75	\$8,505.00	\$149.00	\$8,940.00	\$144.00	\$8,640.00	\$135.00	\$8,100.00
ET-33	68	LF	\$122.00	\$8,296.00	\$126.00	\$8,568.00	\$132.00	\$8,976.00		\$8,704.00	\$120.00	\$8,160.00
ET-34	1,000	LF LF	\$305.00 \$312.00	\$305,000.00	\$315.00 \$325.50	\$315,000.00 \$37,432.50	\$308.00 \$319.00	\$308,000.00	\$320.00	\$320,000.00 \$38,065.00	\$300.00 \$310.00	\$300,000.00
ET-35 ET-36	115 50	LF LF	\$312.00	\$35,880.00 \$16,250.00	\$325.50	\$16,800.00	\$319.00	\$36,685.00 \$16,500.00	\$331.00 \$341.00	\$17,050.00	\$310.00	\$35,650.00 \$16,000.00
ET-37	4	EA	\$1,100.00	\$4,400.00	\$1,050.00	\$4,200.00	\$1,100.00	\$4,400.00		\$4,268.00	\$1,000.00	\$4,000.00
ET-38	4	EA	\$1,200.00	\$4,800.00	\$1,050.00	\$4,200.00	\$1,100.00	\$4,400.00		\$4,268.00	\$1,000.00	\$4,000.00
M-1	1	LS	\$33,000.00	\$33,000.00	\$31,500.00	\$31,500.00	\$55,000.00	\$55,000.00		\$32,003.00	\$30,000.00	\$30,000.00
M-2	1	LS	\$21,000.00	\$21,000.00	\$21,000.00	\$21,000.00	\$22,000.00	\$22,000.00		\$21,335.00	\$20,000.00	\$20,000.00
M-3	1	LS	\$11,000.00	\$11,000.00	\$10,500.00	\$10,500.00	\$11,000.00	\$11,000.00		\$10,668.00	\$10,000.00	\$10,000.00
S-1	1	LS	\$22,900.00	\$22,900.00	\$23,100.00	\$23,100.00	\$9,350.00	\$9,350.00	\$9,553.00	\$9,553.00	\$10,000.00	\$10,000.00
S-2	2.25	CY	\$9,400.00	\$21,150.00	\$9,625.00	\$21,656.25	\$4,950.00	\$11,137.50	\$11,161.00	\$25,112.25	\$1,500.00	\$3,375.00
S-3	1	LS	\$16,000.00		\$16,200.00	\$16,200.00	\$5,500.00				\$10,000.00	\$10,000.00
S-4	1	LS	\$33,000.00	\$33,000.00	\$10,710.00	\$10,710.00				\$32,003.00	\$9,000.00	\$9,000.00
S-5	2,910	SF	\$41.00		\$42.00	\$122,220.00					\$22.00	\$64,020.00
S-6	18	EA	\$3,850.00	\$69,300.00	\$3,675.00	\$66,150.00		\$79,200.00			\$3,500.00	\$63,000.00
S-7	17	EA	\$3,800.00		\$3,675.00	\$62,475.00						\$59,500.00
E-1	9	EA	\$6,200.00		\$6,300.00	\$56,700.00			' '		\$6,000.00	\$54,000.00
E-2 E-3	18	EΑ	\$5,500.00		\$5,250.00	\$94,500.00 \$3,150.00	\$6,600.00				\$5,000.00	\$90,000.00 \$3,000.00
E-3 E-4	1	EΑ	\$3,200.00 \$3,100.00		\$3,150.00 \$3,150.00							
<u> </u> ⊏-4	2	EA	ე	φυ,200.00	გა,150.00	φυ,300.00	φ3,300.00	φυ,υυυ.υυ	ტა,∠01.00	φυ,4υ2.00	გ პ,000.00	φ0,000.00

Contract ID: 1000007916 Short Title: PW HARRISON ST IMPR

HARRISON STREET INFRASTRUCTURE IMPROVEMENTS (Rebid) Full Title:

January 27, 2021 Bid Date:

4							-					
, I	1	1 '	1	1	l I	1	1	1	1	1	1	<u>"</u>
ļ	1	1	1	1	ļ	1	1	1	1	1	1	1
ļ	1	1	1	1	ļ	1	1	1	1	1	1	1
	1	1	1	A. Ruiz	, ,	Esquivel Grading &	.1	1	1	1	1	Bauman Landscape &
ļ	1	1	1	Construction, Inc.	,	Paving, Inc.		CF Contracting, Inc.	.1	Mitchell Engineering		Construction, Inc.
E-5	33	EA	\$830.00	\$27,390.00	\$840.00		+					
E-6	1,520	LF	\$75.00	\$114,000.00	\$73.50	\$111,720.00	\$88.00	\$133,760.00	\$75.00	\$114,000.00	\$70.00	\$106,400.00
E-7	6	EA	\$1,550.00	\$9,300.00	\$1,575.00	\$9,450.00	\$1,650.00	\$9,900.00	\$1,600.00	\$9,600.00	\$1,500.00	\$9,000.00
E-8	1 '	EA	\$800.00	\$800.00	\$1,050.00	\$1,050.00	\$1,100.00	\$1,100.00	\$1,067.00	\$1,067.00	\$1,000.00	\$1,000.00
E-9	150	LF	\$102.00	\$15,300.00	\$105.00	\$15,750.00	\$110.00	\$16,500.00	\$107.00	\$16,050.00	\$100.00	\$15,000.00
E-10	2	EA	\$520.00	\$1,040.00	\$525.00	\$1,050.00	\$550.00	\$1,100.00	\$534.00	\$1,068.00	\$500.00	\$1,000.00
E-11	2	EA	\$1,050.00	\$2,100.00	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,067.00	\$2,134.00	\$1,000.00	\$2,000.00
E-12	1	LS	\$1,050.00	\$1,050.00						\$1,067.00	\$1,000.00	\$1,000.00
E-13	1	LS	\$17,000.00	\$17,000.00	\$15,750.00	\$15,750.00	\$16,500.00	\$16,500.00	\$16,001.00	\$16,001.00	\$15,000.00	
H-1	2,370	TON	\$36.00									
H-2	2,370	TON	\$44.00				· · · · · · · · · · · · · · · · · · ·				7	
H-3	2,370	TON	\$30.00				· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·	
H-4	2,370	TON	\$60.00	\$142,200.00	\$42.00	\$99,540.00	\$58.00			\$54,510.00	\$30.00	
H-5		AL		\$100,000.00		\$100,000.00)	\$100,000.00		\$100,000.00		\$100,000.00
H-6	<u> </u>	LS	\$77,000.00		· ' '		' '			· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	
WD-01	104	CY	\$250.00	\$26,000.00	\$114.14	\$11,870.56	\$200.00	\$20,800.00	\$512.00	\$53,248.00	\$200.00	\$20,800.00
TOTAL BID PR	KICE:		,	\$9,284,892.00	1	\$8,847,686.89	√	\$9,930,898.50	4	\$9,325,867.25	4	\$9,317,386.00

= Indicates a correction of the bid price after review.